
 

ERRATA 
 
 
There is an error in Table 14 on page 66. This is the correct version of the table. 
 
Table 14. Delay in demand synchronization at the retail echelon and total delay in demand 
synchronization for two levels of initial inventory at the distributors. (The retail outlets’ inventories are 
initialized to one third of a wholesale package above the re-order point). 

 DDSCvsR DDSCvsD 

 ROP + 1/3 WP ROP + 1 DB ROP + 1/3 DB 

Product 1 22 22 33 

Product 2 17 9 23 

Product 3 13 49 21 

Product 4 16 35 32 

Product 5 18 24 21 

Product 6 3 22 22 

Product 7 6 25 8 

Product 8 43 38 30 

Product 9 39 66 29 

Product 10 5 10 10 

Product 11 107 82 67 

Product 12 95 80 93 

Product 13 41 88 96 

Product 14 32 55 36 

Product 15  20 98 43 

Product 16  9 16 6 

Product 17 16 6 5 

Average 30 43 34 

ROP = re-order point, WP = wholesale package, DB = distribution batch 
 
 


